
NO RESMİ / PICTURE ADI / NAME

1
M8x18 FLANGED BOLT 

4

2
M8 FLANGED NUT

4

3
M5x16 COUNTERSINK BOLT

3

4
M5 NUT

3

5
M5 WASHER

3

6 AXK 1024 NEEDLE BEARING 2

7 10x24x1 WASHER 2

8 M5x10 COUNTERSINK BOLT 8

9 SILL GUIDE (RIGHT) 2

10 SILL GUIDE (LEFT) 2

11 RECTANGULAR NUT 4

 PART'S

PIECES
 NOTES

THESE MATERIALS ARE HOUSED IN A SEPERATE BOX INSIDE 

THE MECHANISM PACKAGE.

THESE MATERIALS ARE HOUSED IN A SEPERATE BOX INSIDE 

THE MECHANISM PACKAGE.

FOLDING CAR DOOR K-D 
(EK/08.08/01)  ASSEMBLY KIT 

www.sky-elevator.EU



 Subject to change w�thout not�ce .

K-D CAR DOORFOLDING

A A

E - 2

E + ( 2x15 )

E + ( 2x90 )

NA / CO

H

SECTION  A-A

6
0

7
7
.5

7
7
.5

Ø
10

.5

2
0

140

57

100

1
0

2
0

3
0
0

3
8
2

2
5

10010

1
0

24

14

A

B

  
  
  
  
  
  
  
  
  
  
 C

L
E

A
R

 H
E

IG
H

T
 =

 2
0
0
5

  
  
  
T

O
T

A
L
 H

E
IG

H
T
 =

 2
4
1
2

2
5

  
  
  
  
  
  
  
P

A
N

E
L
 H

E
IG

H
T
 =

 1
9
8
5

24

14

1
02
0

3
0
0

6
2

==

NA / CO :  Clear Open�ng
E : Door S�ze
H :  Fold�ng Panel W�dth

1
4

1
0
0

31.5 31.5

1
0

NA / CO 625 650 675 700

E 700 725 750 775

H 188 194 200 206

725

800

213

750

825

219

                        CAR DOOR

775

850

225

800

875

232

825

900

238

850

925

244

875

950

250

41 42 44 44
We�ght [kg]

 Sta�nless Steel

 Pa�nted RAL               43 44 45 46

45 46 47 49

47 48 49 51

51

52

52

53

53

54

6 6

www.sky-elevator.EU


	Page 1

